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FERT7EE F.Y. 1995 112, 651 67,906 13,420 65 46, 529 633 7,259 41,762
FERRS8EE F.Y. 1996 121,739 74,990 12,899 73 53,774 540 7,704 43,927
FEROFEE F.Y. 1997 106, 175 63,173 11,703 80 43,823 459 7,108 40,514
FERRI0FEE F.Y. 1998 112, 964 67,128 13, 801 90 45, 440 K] 7,024 43, 042
FERITEE F.Y. 1999 118, 162 69, 597 13,314 98 48, 420 670 7,095 46, 086
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ERR7EE F.Y. 1995 2,758 1,080 1,678 225 95 47 78 5
ER8EE F.Y. 1996 2,622 1,282 1, 340 200 71 44 81 4
ERROFEE F.Y. 1997 2,299 1,151 1,148 189 68 53 65 3
ERRI10FEE F.Y. 1998 2,617 1,486 1,131 177 68 47 57 5
ERITEE F.Y. 1999 2,289 958 1, 331 190 80 64 46 -
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